SRIXONcup AINTILSTAN2013

25*7 7l|¢12lll¢7i§¥ﬁ

BE BHL K 4 OUT IN &t
-5 1 T & —#D =1 Ers 33 34 67
-4 2 Rt i@ TE "mA 34 34 68
-3 3 Al =ER XS &R 35 34 69
-3 4 EE 1B 18R M4 35 34 69
-3 5 dhft EH 8k K 34 35 69
-3 6 [ ¥ FH BH— 34 35 69
-3 7 EZD EE tH Bt 34 35 69
-3 8 RAIl #E #BA Eth 33 36 69
-3 9 ABAE E# =¥ 5EA 33 36 69
-2 10 #EH ER A 2 37 33 70
-2 11 JA BA% NE A 36 34 70
-2 12 BER Hi BR F3H 36 34 70
-2 13 FH@E £A He B 36 34 70
-2 14 K RO #@1% 35 35 70
-1 15 #&T [3sh HH A 38 33 71
-1 16 /Il B PR HF 37 34 T
-1 17 4@ F® 5 36 35 71
-1 18 #% FA B B 35 36 71
-1 19 7 FERER ZHE RIE 35 36 71
-1 20 Xl E=x Al EF 35 36 71
-1 21 &K AE & EE 35 36 71
-1 22 ®BE FH &Il %2 35 36 71
0 23 I|kAX @& FEKk —&F 38 34 72
0 24 5 BEA reh 5% 36 36 72
0 25 &) #H— KHF KN 35 37 72
0 26 AKX &— Bsx KBE 34 38 72
+1 27 BF% & BE =8 39 34 73
+1 28 EHE #H4 B A 37 36 73
+1 29 fEL #®z L B 36 37 73
+1 30 BB % bR #8Z 35 38 73
+2 31 A HEA &8 B8 38 36 74
+2 32 uiF RmIE RE &1 38 36 74
+2 33 EX f#z # B 37 37 74
+2 34 =K K& WE X 37 37 74
+3 35 Al #®z W BE 40 35 75
+3 36 LE# == L fE 40 35 75
+3 37 HHE = I\R #mh 39 36 75
+3 38 HA E HR EF 38 37 75
+3 39 12 #E BiE EF 38 37 75
+3 40 %N &2 BEA Eth 37 38 75

(R&£&JEREBRKEFED
(B fF16A258 (X)

> BINFISURAVR)—95T/NEW

[(Riz-RER-BEE]EY-27°C-62%

BHE B K 4 K £ OUT IN &t
+3 41 5R ¥ —BE 37 38 75
+3 42 ) BX =)l B3 37 38 75
+3 43 KA AKX & AKX 37 38 75
+3 44 AR [EFE N 37 38 75
+3 45 i B— =R & 34 41 75
+4 46 AH AT AR BH 39 37 76
+4 471 £F A FE EX 38 38 76
+4 48 H)I| £ INI RIE 38 38 76
+4 49 KB 1#E B &S 38 38 76
+4 50 I EL & IE— 38 38 76
+4 51 L% i BlFF Btk 38 38 76
+4 52 AIRHAE HA/NE EX 37 39 76
+4 53 BFH BE NG &S 37 39 76
+4 54 =F E— HEH & 36 40 76
+5 55 S¥ M KE HAX 38 39 77
+6 56 21U B /INBR FEER 42 36 78
+6 57 E¥ HE RE RE 41 37 78
+6 58 KR IEX XE Kits 39 39 78
+6 59 FE &R hH IEF 39 39 78
+6 60 HF Hith Hf B# 39 39 78
+6 61 UK K& HFig B2 38 40 78
+7 62 Bl BRE HE BE 43 36 79
+7 63 JIIIF =X a2 74 42 37 19
+7 64 %M@ 5hBA FRE R 41 38 79
+7 65 % it Al BASE 40 39 79
+7 66 75 1 HER BA 39 40 79
+8 67 £k HR2 wE = 41 39 80
+8 68 EM == EFE &+ 41 39 80
+8 69 BAM M LR BE 40 40 80
+8 70 A &% MHE —= 39 41 80
+8 71 W R =fiE B 39 41 80
+8 72 W HE=E =R F# 39 41 80
+9  T3RHEB = RE 5 41 40 81
+9 74 X% BAE % £FA 40 41 81
+11 75 K#8 3RER mH 58X 41 42 83
+14 76 MF FME mE B8E 43 43 86
+14 77 HEE BEE =1 ) 41 45 86
+17 78 EA K XE BA 46 43 89
+20 79 &% wR =0 BE 49 43 92
+20 80 AN 1§=2 fBaHF BEXK 44 48 92

BEREER

X EAI28HIFETHY, R 5 HE



